Cut Mesh Panel to 2104mm

[ REVISIONS
PLAN VIEW
q
Al ¢ — — = — — — — — §F 3
7 . i Z2 vz
FRONT ELEVATION SIDE ELEVATION

CUT Post here
—olLleo| = /
o]0
S 10 ] PATERAL & s Time Carpark Barriers - Rhino-Stop® Screen
s 200 = RIS 7 SafeDirection| rhinostop® Screen Type &, 2200mm High
./
SECTION A-A DETAIL G STATUS|  NAME DATE  |SREOtL A OIS oSeaad  hons snd the copyrght Theren are. General Arrangement
Base Plafe Detail Cutfing Defail ORAWN W Rogulski | 15/03/2022 | ety s ieehn JIY it el e pees, [OWETO REVIDN: [SHEET S
SCALE 1:20 SCALE 110 chkD |T. Colquhoun | 01/04/2027 |VNo: Jouarances cimn THRD ANGLE SD-CP-06004 A | Ak
APPVD|H. Wallace | 01/04/2022 | STATUS: APPROVED WEIEHT24.(0.8kg 190 0T A I SCALE: 140 [ SHEET 1 of 7

1 | 2 | 3 | L E\SDSYD\SD\As1emmy\SD—CP Carpark Bsrr\srs\SD—EP—SOEDOO RhinoStop Screen\SD-CP-06004 - RhinoStop Screen Type &4, 2200mm g\gh\ Friday, 1 April 2022 10:36:31 Al



| ITEM BOM Weight
NO. | PART NUMBER DESCRIPTION kg

1 | GR-PB-IS-2360-AG Rhino-Stop® Screen Post 2360mm high 352

2 | GR-WB-SR-4000-CG | W-Beam Guardrail 4.0M NLL, 1.0M CTRS 433

3 | GR-FS-20-0187-HG FISCHER FBN I, M20x187mm 0.5

4 | GR-FS-16-0050-MG M16x50 POST Hex Bolt & Nut Assy 0.2

5 | GR-FS-16-0032-MG M16x32 SPLICE Hex Bolt & Oversize Nut Assy 0.2

Cut Post fo 2105mm

Stage 1: Post and Rail Assembly

FATERAL Time Carpark Barriers - Rhino-Stop® Screen

S— Eﬁﬁﬁ SafeDirection| rhineStop® Screen Type &, 2200mm High

mufi
COPYRIGHT Al right d ABN: 53 156 459 684
STATUS| NAME DATE These drawings, rp‘lansS arﬁsesr;:clhcahons and the copyright therein are General Arrangemenf
- the properties of Safe Direction Pty Ltd, and must not be used, DWG NO REVISION: [SHEET SIZE
DRAWN |W. Rogulski 15/03/2022 |reproduced or copied wholly or in part without written permission
i [T Colguhoun_[01/04/2022 |49 JOABKER St 1 pemgel  SD-CP-06004 A [ AL
APPVO|H. |Wallace | 01/04/2022 | STATUS: APPROVED WEIGHT24,0.8kq | J8iuive | SCALE: 1:25 | SHEET 2 of 7

1 2 3 | l. E\SDSYD\SD\As1emmy\SD—(P Carpark Bsrr\srs\SD—EPé}EDOO RhinoStop Screen\SD-CP-06004 - RhinoStop Screen Type &4, 2200mm g\gh\ Friday, 1 April 2022 10:36:31 Al



[ 5 6

| ITEM BOM Weight
NO. | PART NUMBER DESCRIPTION kg
6 |GR-EA-30-6000-BG Mesh Support Angle 6.6
? | GR-RH-SR-5025-AG | RHS 50x25x2.0mm, 8000mm Long Galvanised AS1163-C350 17.2
8 |GR-FS-08-0040-MG | M8x40 Square Neck Small Cup Head Bolt & Nut Assy 0.0

o 9 | GE-FS-08-0000-AG M8 Plain Washer Class 4.6 HDG

10 | GR-FS-10-0050-HG M10x50 Hex Head B&N Galvanised 0.0

Stage 2a: Mesh Panel Support Elements Assembly

PATERAL . . T Carpark Barriers - Rhino-Stop® Screen
S 1 SafeDirection| rhinestop® Screen Type &, 2200mm High
y
Bl

STATUS| NAME DATE %mﬁi rp‘lahr:ss arﬁsesr;:éjlhcahons and theA:Ey;r\Sgihtﬁge:’e?r? aﬁrﬁel' General Arrangemenf

. the properties of Safe Direction Pty Ltd, and must not be used, DWG NO. REVISION: |SHEET SIZE
DRAWN |W. Rogulski 15/03/2022 |reproduced or copied wholly or in part without written permission
cHkD |T. Colquhoun | 01/04/2022 |UNO" JOLARMNGES. siam 1D ANGLE SD-CP-06004 A | AL
APPVD|H. Wallace | 01/04/2022 | STATUS: APPROVED WEIEHT24.(0.8kg (90 0T A I SCALE: 1:30 [ SHEET 3 of ¥

L

E\SDSYD\SD\As1emmy\SD—(P Carpark Bsrr\srs\SD—EPé}EDOO Rhi

inoStop Screen\SD-CP-06004 - RhinoStop Screen Type &, 2200mm g\gh\ Friday, 1 April 2022 10:36:31 Al



RHS butt-joint located
at centre of Post —]

Both Mesh Support RHS Rails
fixed to Post

MUST be installed
located at centfre
Post with 2 bolts

All RHS & Angle Mesh Support Rails

DETAIL C
SCALE 115

DETAIL D
SCALE 115

with the butt-joint
of Post, and fixed to
at all Post locations.

Mesh Support RHS Rail
fixed with 2 bolts.

Stage 2b: Mesh Panel Support Elements Assembly

MATERIAL:

FINISH:

ﬁ SafeDirection

TME " Carpark Barriers - Rhino-Stop® Screen

RhinoStop® Screen Type &, 2200mm High

il
COPYRIGHT ALl right: d ABN: 53 156 459 684
DETA”_ B STATUS| NAME DATE These drawings, rp‘lansS arﬁsesr;:clhcahons and the copyright therein are General Arrangemenf
. the properties of Safe Direction Pty Ltd, and must not be used, DWG NO. REVISION: {SHEET SIZE
SCALE 115 DRAWN |W. Rogulski 15/03/2022 |reproduced or copied wholly or in part without written permission S D EP 06004 A A ['.
' , IN.O: TOLARANCES: THIRD ANGLE - -
cHro |T. Colquhoun | 01/04/2022 [M% JHRNER & Whr e mm PROJECTION
APPVO|H. |Wallace | 01/04/2022 | STATUS: APPROVED WEGHT24,0.8kq [ J8iuiwe | SCALE: 130 | SHEET L of 7
L E\SDSYD\SD\Asm RRinoSTop Screen\oD-CP-06004 - RhinoSTop Screen Type &, 2200mm ggn\ Friday, 1 April 2022 103631 Al

3 |




2 [ | 5 6
| ITEM BOM Weight
NO. | PART NUMBER DESCRIPTION kg
11 | GR-MX-MX-2411-AG | Mesh Infill Panel 2400x1100, @4 wire, #1x9 aparture [N
12 | GR-FS-08-0000-AG M8 Square Hole Mesh Washer 0.0
13 | GR-FS-12-0035-TG 12g x 35mm Hex Head Screw Self Tapping, 10 tpi, Class5, B8 Coating

N
ST

o

Stage 3a: Mesh Panel Assembly

TITLE: . -
\HHMM‘"‘ PATERAL . ¥ F ™ Carpark Barriers - Rhino-Stop® Screen
@ S— =] SafeDirection| rhineStop® Screen Type &, 2200mm High
W of
el BN: 53 156 459 68
COPYRIGHT ALl right: d ABN: 53 156 459 684
STATUS| NAME DATE These drawings, rp‘lansS arﬁsesr;:clhcahons and the copyright therein are General Arrangemenf
. the properties of Safe Direction Pty Ltd, and must not be used, DWG NO. REVISION: {SHEET SIZE
DRAWN |W. Rogulski 15/03/2022 |reproduced or copied wholly or in part without written permission
w0 [T Colauhoun_|01/04/2072 | JOUGHES 2 o poage|  SD-CP-06004 A [ AL
APPVD|H. Wallace | 01/04/2022 | STATUS: APPROVED WEIEHT24.(0.8kg (90 0T A I SCALE: 1:30 | SHEET 5 of 7
2 | L E\SDSYD\SD\Asm RRinoSTop Screen\oD-CP-06004 - RhinoSTop Screen Type &, 2200mm g\gn\ Friday, 1 April 2022 103631 Al



1 2 3 3 5 6
I
E
Mesh Panel Mesh Panel Mesh Panel
I T — — — : =
il B ﬁfifp
D UD
|

:\ Q— g il ::# [ E—— — RN — (RN R— w — o
—— = = == — - = = = === == ==
' u [ — [E— JEE— — R E—— a [ E—

n
!

Lx equispaced fasteners per Mesh
Panel on each RHS support rail.
ilF
i i

8x equispaced fasteners per
Mesh Panel on Guardrail

Lx equispaced fasteners per Mesh
Panel on each Mesh Support Angle rail.

DETAIL E
SCALE 115

Mesh Mesh
Panel | Panel
M Fastener located between Mesh Panels, with
Profiled Mesh Washer lapping both Mesh Panels.
TYP
ﬁ% i
DETAIL F Mesh Panel Assembly Notes:
SCALE 15 1. Position first Mesh Panel in Portrait orientation, resting on bottom EA support rail.
2. Position adjacent Mesh Panels with a 5-10mm gap fo allow for fixing screw between each Panel.
3. Fix Mesh Panels as indicated in Detail E and Detail F views.
L. Each Mesh Panel to be fixed with 24x Self Tapping Screws and Profiled Mesh Washers.
Stage 3b: Mesh Panel Assembly
FATERAL ¥ - Time Carpark Barriers - Rhino-Stop® Screen
R =1 SafeDirection| rinoStop® Screen Type &, 2200mm High
>,
STATUS| NAME DATE %R::emdﬁratung: rp‘lahr:ss arﬁsesr;:;hcahons and theA:Eyﬁwsgihtﬁge:’e?r? aﬁrﬁel' General Arrangemenf
RAWN W Rogulski | 15/03/2022 |1e properties of Safe Direction Pty Lid, and must not be used, ~ [DWG NO REVISION: [SHEET SIZE
. Rogulski reproduced or copied wholly or in part without written permission S D EP 06004 A A L',
cHk'D_|T. Colquhoun | 01/04/2022 | JHR0RGEE S TRy . oo PRCELTION -Ltr-
APPVD|H. Wallace | 01/04/2022 | STATUS: APPROVED WEIEHT24.(0.8kg (90 0T A I SCALE: 1:50 | SHEET 6 of 7

l. E\SDSYD\SD\As1emmy\SD—(P Carpark Bsrr\srs\SD—EP%}EDOO Rhi

inoStop Screen\SD-CP-06004 - RhinoStop Screen Type &, 2200mm g\gh\ Friday, 1 April 2022 10:36:31 Al



<\|||w|

i\im
‘!!!\'N'\'|.‘.N'\'\ i

| ||

z|||||
||| |
| ||||
||||\ il Mun
|| il |||n||||| il
|||||||u ||n||||
|| o i
m |||\|||||||
W! |HN|||

dhm
il "!'

| ||||\|||
!!. ||||‘| !"'.
|'iii||||||||| iii 'mi ||||||||||||||..
muumuu i ||||||\|||||| uummum
mum i il i I””””"H
(il |||| ||||||m|||||| il
|||m|||||n|| i
|||u|||u|||||| |||||||\||||
||||| Il Il |||| |\| |
||||\ \u |m|\ ||| n
|m|||n nnuu mum mmn
‘n\ ||u|||||| il ,n
|| ll | ||\|| o] 5||
|||\|\|||||\|\|||||\| ..‘.!!!! e ||| il |
il "'Hﬂuwlluwh\ HI\I\II "'|H H||h"h||||\"'||\||||||||||u..|h|||ii|'"||!
|m|m|‘|‘|‘| il i
m ." il sl

u||| | l
||| ||||| ||| ||
” i i
‘ Lt
il ||\||||||| |\||H
|\H||H
|||

i IH
IH
IIHII

il Il Il
' f ]
H I iii” ”“ | Iil I
H INI IH
Il ..\

|||
i !” {il
IH
il |||
il |\|
il il gl il
|||| i
il it
”ll\” | "
il ||! |
|||||n|||||||||||
HI |||||||
||\|||| ||||||||
il |||||I|I|||||H|| ||||
|| ||| ||||||
||\|||\|u..
||\|

HH

|\ ||

\
|
l\nnn\.

St
age
k:
Final A

sse

mbl

y

MAT!
ERIA
[
FINT
ISH:
STA
TUS|
DRA
WN NA
o ME F:
) . Ro
AP, T qul
PV . C ski
‘D|H Oqulh ! DA it
alace B0 7) S
alla n 03/ COPYRIGHT a
ce 0170 202 Copvrg f
L/ 2 'heSEdHT E’
01 202 re.:rgru”:wm“g . Di
/04720 2 UN;”'EE;";QS ‘ofplahr:: res ir
22 |S ArULAr("DSEf:”deerEd =2
TAT Ll D7AN[ed whﬂ”\repteg.f,( 'I:'
T
WS ARy i part s 2nd th ABN n :
N; e S o
P w”'fsen”Urh'“ErS" 6 OS ark
Pn PErmE u:‘” ar 4 t‘o Ba
0 L p® rr
VED P adtan DWG NO SC;-EFS _R
T/UNF een ThinO <
G -5t
WEIGHT: SD eneral ype 40p® Sc
sis P8 - 2200mn
: em m
o0 00 ent Hi
N igh
e l!-
W/NE'LE‘ R
SC EVISI
AL ON:
E:1 A SH
:1:20 FET S
SH A 1zE
EET L
7
of
7

L

G\
SD
SY!
s
D\
AS1—
lemb
I
g
e
rparl
k
Bar
Ters
D
-CPZ
e

T
TS
oo
el
D
-
T
04
T
5
e
n
=
ype
T
5%
0m
"6
igh\
T
a
Y, 1
Ao 207
7
10
36
3
A




	Sheet1
	FRONT ELEVATION
	PLAN VIEW
	SIDE ELEVATION
	Section View A-A
	Detail View G (1 : 10)

	Sheet2
	Drawing View2

	Sheet3
	Drawing View3

	Sheet4
	Drawing View9
	Detail View B (1 : 15)
	Detail View C (1 : 7.5)
	Detail View D (1 : 7.5)

	Sheet5
	Drawing View4

	Sheet6
	Drawing View14
	Detail View E (1 : 15)
	Detail View F (1 : 5)

	Sheet7
	Drawing View5


